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1. f:i If 1t:i! 0 -G')tit1~Ha n~ ;;fJ[., ~El1t~~ 1*;;fJ[. a~ 'fk ~JL, Jt. t,j ~ it: 

(A) &J rAJ fit1ft""f ft; 
(B) &J ~*it1ft (international price) .1.1+; 

(C) tt!J! 0 -i 11;/]0; 

(D) ~;;fJ[.£ 1. if-~jHk (deadweight loss) 0 

2. :t11JL: r ~.~Jf-J:.-ku*~I1~-417;]\1t14F, ~vtfAAitdtiJi{3&*J , i!.t<.iG1t:t1 ifiJ 1;, 

(A) l7;]uI14~ ~ 5jt 3'- If1.1&. :k; 

(B) V;]UI14f ~ .>1<. 5'-'[1. ~~ 1; 

(C) 1I;]t1114f~ 5jt5'-'[1.1f!v1,; 

(D) it~~5jt1'-'r1.~n~ 0 

3. 2010 if.. 11 PJ, ~ ~ Fed ~~ 1-$ -i4li.t*1t I:1b Jt~ (quantitative easing) iIi ~t iIi t a~ 3:.. -t- rAJ ?(J: it 
Fed ~~:k -t~. J *' ~ ~t iIi~~ a~ --&jiA ~1t, fj\jiA $.-f.j?l k, 
(A) ~ ~ ftJt~ ~1.1~:f% J:. 7t; 
(B) ~ ~ -& 5tJl /i."ft a~ :ifl] ~ T f*"; 

~) ~IA~.ff~.':ki~A~~~,~~~.~.I~~I~~~~,~~~A~~~: 

(D) l-XJ:. ~ it Q 

4. 1974 a~ ~ - ::k;6 itl:1J€A~ B~, 1/f ~ I ~ ill1Jt1+i'J!1.M~~& (stagflation) JJt *-, i!kA~: 
(A) ~h1.M~~&~ ""fjt-:., )f 1t GDP J:.1+; 

(B) ~h1. Mj3~&*J:.1+, )f W GDP --F ft; 

(C) ~bJ1.M~~~""fft,)fW GDP rft; 
(D) ~b]{. ~~~&~ r fi}, 1t 1f GDP J:.1+ 0 

1. 1~lit~~if..a~it1hk1~~k 5,000 1t*'~ , ..t § GDP ~ 10 ~t*'3t ' -r-1t GDP ~ 5 ~tA3t Q 

(1) (4%) ~h {:it 7](}$. ~1~ ? it~} 89 ilit it1!Ii .x. ~ 1~ ? 

a)~ai~~~it1!~kOO~~'A-r-1fGDP.+~~5%o 

CD (4%) -ku *' Fed til it 'l\t 1~~ ~it.f:t ~ if ' ;l.IJ ElfJ it- a~..t 13 G D P ~~h1.7]( }$. if -ku 1~ if fJ; ? 
(g) (20/0) -ko* Fed .t-iit.:f:t~h{.i~~ , ~IJ-efi.itl it>~}1~~-ku1~iffJ;? 



~ %11 : ffi!{i:~ .. ~~~-=--ff-~ 


3Ift~ e $11 : 7 ~ 19 e (£$A -=-) ~ 2 ~p 


4 ~1L ~ $Jt ,m ~ ~ 1rx:t9: r ' ~o *-*1t.f*1t r JJl5fdi ~ j{ 1W- .lEi *J ' tt~ til tJt ~ ""1t :tIl ~ .. 
1ft t .. ,t § .I.. f ' ~bJ 1. 7]( ~a ~~L{ ili ary *j!l 0 tt iflJ mIS-LM a AD-AS i] ft~ 7t*Jf ~ 0 

3. 	 ~:ttf;t'~jt~tt~;.$..~~~H.W1ft~or: >~itJiThttC==lOO+pYd '.;ftW -tili 1=500 'iEiAtt.ili 
G == 500 ' tif t.[ljje.?lT~l Yct == Y - T ' )~~~ T == 0.2Y - 200 it*- ' § ~i-/fi.;ft W~ M:;i\W /Ja 300 '0 

l!f j5t;i£jq~~~.i. ili (Y)J~ na 600 ~t M : 0 

(1) (10%) ~~i-'fi ffJ~)Sf it -t tJj t-~ iJJ ~ jl ? 

(2) (10%) iEiAtaryfJtj}jl~(~;jf~)1t~ !~c~:tfJ ~ ~Y ? 

4. (100/0) ~!J *-f';f%.:t: ~ , ~'4/JaH:A-~it ' Fif' ~ f-t. 4-.;f4~;$rm Y -t.~il~jot#ltt Nj" J,A ' ~t1t1t0 

~'rm~k~-.~£?M~.~~A6.~fflj}.~~%*-7tMo 

5. 1~11;9: - Jt~~t*,! t J:1-~ 00 ~ ary 3!~A;.$.. , MC == 10 () - EL t~.i. t A~1~ 6 ' 3l~A;.$..J: 1t ~ 
.fit -'1ir. 12 ~ ic ' rN ~ ~>ldfi .fit .f1ir. t.1t2 ~ iG t\ 1\ ' J,A ,b~ 1* ~fJ 't: #& If () 1rl1;9: rtf J:i 't /j<.. 6 ~1t l.t; 

== 1000 - 50P , :il~~iA r!h Ml~ MR == 20 - Q 125 0QD 

(1) (1 O%)tttt jf. Jt ~~t*~1fJ 15 ary.i. t: ~fJt *~ 0 

(2) (5%) tttt J-~fJ 6 3tA ary ~~ ., :t*IJ~ffJ ~1~.;fJt:k 0 
(3) (50/0) -tt~t~ II ff} 3t 1;t~ ~t *­ 0 

! 6. **-a01..i. JiThtt~ q = lOO-JKL ,"" tfq~~/J" 8:tffJ.i. t:(~), K~~~ ~ ffJit-t 'L~ *.I.a0it-t 0 

(1) (5%) ttf1f"~q=l OOOary ~,! I: 6 i'l11t 0 

(2) (5%) M-K=10 ' ~IJq=10008t ' L=? *tlJ ffJ ip-;iSJ 1.£ 11 l.t;1iiJ? 

'. .;; . 


